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QUESTION 1

Which two are "Are SP and Device Ready?" state algorithms for Enable Service? (Choose two.) 

A. Customer Device Compatibility Check 

B. Create Service Point 

C. Check for Measurement 

D. Create Usage Subscription 

E. Start Service Agreement 

Correct Answer: AC 

Reference: https://docs.oracle.com/cd/E63094_01/PDF/SGG_SOM_Configuration_Guide_v2_1_0_3.pdf 

(17 and 21) 

 

QUESTION 2

When configuring the Get Scalar Details usage rule, which three attributes can be defined to retrieve scalar values?
(Choose three.) 

A. Unit of Measure 

B. Device ID 

C. Service Quantity Identifier 

D. Time of Use 

E. Service Point ID 

Correct Answer: BDE 

 

QUESTION 3

Which three statements are true about the different types of measuring components? (Choose three.) 

A. Seconds-per-interval (SPI) is one of the attributes of scalar measuring components. 

B. Only physical measuring components reference a device configuration. 

C. The terms register and channel are synonyms for measuring component. 

D. The measuring component types are physical, standalone, scratchpad, and TOU. 

E. Scalar measuring components contain a single measurement for an arbitrary period of time. 
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Correct Answer: CDE 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf (36) 

 

QUESTION 4

A Service Order Orchestrator determines the steps required to complete the service. 

As an example, based on the state of the service point, what does the Enable Service Orchestrator determine the
actions for? 

A. Create a Device Configuration; Install a Device; Turn on the Device 

B. Connect the Service Point; Install a Device; Create a Usage Subscription 

C. Create a Service Point; Install a Device; Turn on the Device 

D. Connect the Service Point; Install a Device; Turn on the Device 

Correct Answer: C 

 

QUESTION 5

How many bill segment-related financial transactions do pay plans have? 

A. depends on the number of payments that is part of the pay plan 

B. one 

C. depends on the number of bills that will contain the customer\\'s pay plan commitments 

D. none 

E. unlimited 

Correct Answer: C 
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